normalized X2

< x2/ndf >

< x2/ ndf >

Ratio

chi2
Entries 15356
+ | Mean 1.024
N Sld Dev 0.4849

Entries 13610
Mean 0.8924
= |Std Dev. 0.403:

[ normalized x? probability |

ThiZ_prob

T Entries 15356

: t | mean 0.4961

0.025k--; :_ |std Dev 0.2911
. CHZ pvo

. Entries 13610

b _ | mean 0.6087

0.02 H Std Dev 0.263

0.015

0.0

0 2 4 6 8 10 12 14 16 18 20
X2

Ratio

0.5

0 010203 04050607 0809 L

mmw}ﬁ ‘Hn
*WW "

Prob(x?)

1.4 | m===="pQM_V0001_R000000001__Global__CMSSW_ckf_|

RECO

=== DQM_V0001_R000000001__Global__CMSSW_mkFitOriginal__|

RECO

}m# tﬁﬁw

< X2/ ndf >

Ratio

1072

-1
AR(track, jelts)



	Contents
	Page 1


